Accelerated Geometry CC
4.1-4.4 Test Review (Solving Quadratics)

KEY

Name:
Date:

Period:

Find the zeros or roots of each function or equation by FACTORING. (Exact answers ONLY')

1. f(x) = —x* - 11x - 30
0= (x*+lIx+30)
0= —(x"+lx +5x +30)
O=- (x(x.uo\-l—s(x +b\\)
= — (x4 (x+3)_
[X=-C¢__X=-S|
3. 36x° =4 -
3lax7'-'-} = 0 £&—Die€aran—=2-

ot Tlao
X+DYx—2) =0  Spearas
‘ X="'l3 X='l3

2. g(x) =2x* - 25x + 12
X y
24
0‘:2)(7';%;3 X — 24X +12
0= x (2x =)= 12(2x=1)
0= (2x=0(x=12)

[X="12— X=12 |
4. 56x = 8x* + 98
0=8x*5bx +9%
0= 2(H4X" = 22x +42 ) &= Parback Seguere
2 TinomieA
O0—="2 (LK s =3 \

X -:.q/z

5. Write a quadratic function in standard form with zeros 6 and —1.

v Vv
(K'—(ﬂ\()("H\ = )(7‘__ E5x —b

6. Write an equation in standard form with roots 3, -2.

\ \ 4 % ~
f { w  \ \ 3 I
(v 9O v e ) =X 0 W — |
2\ y 8 ,j ',5 (\_ A 4 1 A ‘;"\ We)

Complete the square for each expression. Write the resulting expression as a binomial squared.

7. ¢ —oox+ 14 = [x=t\)*

8. x2+ox+ 24 = [ X+ o’l?—\l

Solve each equation by completing the square. (Exact answers only!)

9. 14x + x* =24
XZ_‘,IL}X.[_ 49 :Z_Ll—l—jj-

(x+3)=33
X4+4F =% ﬁ‘—é

1. x*=3x+ 4 .
X2 3x + U4 4+ Uy

(x ~3/2)*=25/4
Y —=3/5 =+ 5/
X = 32-_-1

V N|w

X

4,1 |

10. 26 - 8x = -2
2(x™=Yx+ 4 Y= —2+2( 4.

12. 4x° + 32x + 16 =0
U (x2r 8x + 1L o (o4 (22)
X +u) =49
(x+%)*=12
K+ =105
Lx—;—% t2J3

Remember to look over section 4.4 as well: $olving Nonlinear Systems by graphing, substitution,
and elimination. You have the review from yesterday!
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4.1-4.4 Test Review (Solving Quadratics) Date: Period: __
Write each function in vertex form, and identify its vertex.
13.f(x) = x> —4x - 17 o 14. h(x) = 3x* = 24x + 15
LoN+R+ L =x Y x + A W)= 15+3(12) =3(x2ax+ L)
L)+ 1L\ = Lx 2\" hx)+33 = 3(x-4)"
26 = (x—2)*- 21 hix) = 3(x—4)"-33
v(z, 1\\ v (4,-33)

Find the zeros of each function by using the Quadratic Formula. (Exact answers ONLY!)

15. (x) =x*+10x + 9 16. g(x) = 2x° + 4x — 12

X==(10) £ Jiloo - )2\ X == (1) £l 4 (1D
200 2(2)
x=-lotJey __jote X=-42 2 _ 4+4F _[T7% 5|
2 z 4 1 -

18. h(x) =x* - x+ 12

X==0E0 =g (D)02)

T
p— Gy 5 /\..,-‘
X=121J-u3 [tz
-2 =

19.9(x) = 2x° + 3x + 1

X=-(EJ9-40)R)

20. g(x) = x* +5x+ 3

2.(7-\ - &
LT e x=-5ti53 _[sxism
- 2
F g
X=="12,)

Find the type and number of solutions for each equation.
21. X*-3x=-8 222.-x2+4x:—3 23. 2x* - 12x =-18
x*-3x+® =0 X+x+3 =0 2xZ_12x +1® =0
A40N)=-23  lo-HN3)=Y uy -4 (D) =0

2 lma.a{r\af'a- 2. Reo\ | oo\

Remember to look over section 4.4 as well: Solving Nonlinear Systems by graphing, substitution,
and elimination. You have the review from yesterday!




